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'�*, ����(�'�4�� 7'�-+����� � &���+����� *� *-���*+�2� �+ 0 �� c/2. 

� ���1',+�+� �*&1*-�8+*� ��� (�22�--���+�, *-���*+, -�+��.) 2���+

�.+, ��2�����. 
.'� 1*+����'���, �+� *-���*+, (�22�--���+�� �.'�

�����-��� � �����'�*, c, � ������*�2�*+� �+ +�(�, -�-�2� *-���*+�2�

��'���'� 7'�-+��� � &���+��� �� ����(�'�4��. 
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�.��6��0 2020 (�� ����'*� *� *+��6�.) *��.+�0. � -��4� ��-

-���� 2019 (��� -�+�0*-�� �'�*+� *���5�'� � �*&.6-� &���2����

������*+��(� &���*)������� � (����� �)��,. /-*&��+. &�������-

+�',�� 1*+�����'�, �+� ����1��+�'�2 ����'������ *+�' ���.0 +�& -�-

�������1*� – 2019-nCoV. 

"�',��06�� ��*&��*+������� -��������1*� ����'�*, *+��2�-

+�',�.2� +�2&�2�. ���+-�� *+�+�*+�-� ��*'� ��������.) -�������-

�1*�2: 11 ������ 2020 (��� – 41 ��'���-, 24 ������ – 218 � +.�. 

�� ����.2 �	� &���.� 100 +.*�� ��'���- ������'�*, ���.2

-��������1*�2 �� 67 ���0 * 2�2��+� �(� �����1�����. �� 78 ���, *

����'� ��*&��*+������� ��*��+.��'�*, 1�� 200 +.*�� ����'��6�), �

����� 4 ��� �) -�'���*+�� &���.*�'� 300 +.*�� ��'���-. 11 2��+�

�*�2����� ��(�����4�� �������)������� &�����'�, �+� ��*&��*+����-

��� ����(� -��������1*� COVID-19 ����'� )���-+�� &����2��. �*+�-

*+����� �����-��+ ��&��* &�'1����� 2�+�2�+���*-�0 2���'� ��*&��-

*+������� -��������1*�. 

��*+���2 1�������� ����*�2�*+� 2���1 y � t, (�� t – ���2� (�

*1+-�)), � – ��*'� ��������.) -��������1*�2 (� +.*���)). �1*+, �

2�2��+ ���2��� t ��*'� ��3�4�������.) ����� �. ��(�� &����*+ ��*-

'� ��3�4�������.) �� ���2�  t∆   �1��+ ����� y k y t∆ = ⋅ ⋅ ∆ , (�� k  –

-�733�4���+ (k= const). 	+-1��    
y

k y
t

∆
= ⋅

∆
. ����)��� - &����'1 &��  

0t∆ → ,  &�'1��2 ��33����4��',��� 1��������  y k y′ = . ��6�� 7+�  

1��������, �1��2 �2�+,
k ty c e= . "�'�� ����)���2� �.��*'�+, -�-

733�4���+. k�c. �*)��� �� ����.) �	�, &��������.) �.6�,  2�+�-

��2 �.����������&�'1���� 72&�����*-�� ����*�2�*+,     
0,07130,8246 ty e= .������� &�����-1, * &�2�5,8 &��*+����-� �*)���.)



122 

�

����.) � 72&�����*-18 3��21'1 �2��2: &�� t=67 y=97,93; &�� t=78 

y=214,55; &�� t=82 y=285,36.�*)���.� ����.� &���'���+�',�� ����.

����.2, &�'1����.2 * &��2������2 �*-�2�0 3��21'., �� �� +���.

��-�� ����*+�+���.) ��*�+���.) �-�1('���0. ��-�2 ������2, ��*�:+.

2���� *��+�+, ����.2�. "�',��06�� *��.+�� &��+�����'� *&�����-

'���*+, �����0 ����*�2�*+�. 

��'1������ 3��21'� 2���+ *&��(��������+, &�*'��185�� ��*-

&��*+������� ���1*� &� ��6�0 &'���+�.  
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����2�6������ ���-�) *��� ��'��+*� ��*,2� ��*&��*+�����-

�.2 � &��2.6'����*+� &��4�**�2. 	�� �*&�',�1�+*� �'� &��(�+��-

'���� 721',*�0, *1*&����0, ��*+����� � +. �., �'� ��+��*�3�-�4�� +�-

&'��.), 2�**���2���.) � )�2���*-�) &��4�**��.  

����*+��, 733�-+����*+, &���2�6������ ����*�+ �+ -��*+�1--

4�� &���2�6���85�(� 1*+��0*+��, � +�-�� �+ -�'���*+�� 7���(��, 

&���������0 - �����4� ��;�2� &���2�6����2�0 *���.. 

�.&�'��2 ��*��+ 2�5��*+� 2�+��� '�&�*+��0 2�6�'-�0. ���-

4�** &���2�6������ ���-�) ���-�*+�0 *����+*� - ������ ���6��(�

��+�-���� +�' &�+�-�2 7+�) ���-�*+�0. 

��'� *�&��+��'���� F &�� �������� +�' � *���� �&����'��+*�

����*�2�*+,8
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ρ
= ζ                                                 (1)

(�� ζ  – -�733�4���+ *�&��+��'���� *���., ����*�5�0 �+ )���-+���

�������� +�'�;S– &'�5��, &���-4�� +�'� �� &'�*-�*+, &��&����-1-

'���18 - ��&���'���8 *-���*+� ��������, �
2
;w– *-���*+, +�'�  

� ���-�0 *����, �/);ρ  – &'�+��*+, *���. �3/�
3
;g– 1*-������ *�'. +�-

��*+� �/)
2
. 

�.��'�2 7'�2��+���18 &'�5��-1 dS'�&�*+�, ���5�85�0*� *

1('���0 *-���*+,8 n 1/c.  

�-���*+, 7'�2��+����0 &'�5��-� �1��+

2 .w nx= π                                                 (2)

��)���2 7���(�8, ��+������18 �� &�����'���� *�&��+��'����

���-�*+�  


